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Teile von Gewichtmassen

1t=1000 kg

1/2 t = 0.500 t = 500 kg
1/4 t=0.250 t = 250 kg
1/5 t = 0.200 t = 200 kg
1/8t=0.125t = 125 kg
1/10t=0.1t= 100 kg

1kg =1000g

1/2 kg = 0.500 kg = 500 g
1/4 kg = 0.250 kg = 250 g
1/5 kg = 0.200 kg = 200 g
1/8 kg =0.125kg = 125 g
1/10 kg = 0.100 kg = 100 g

SQ09 = Ul |
uwog =  yi
Uvec = Pl
Mmes =11
WNCL = 1}l
PGOE = 1
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Teile von Hohlmassen

1 hl=1001I

1/2 hl =0.50 h1 =50 |
1/4hl=0.25hl =251
1/5hl=0.20 h1 =20 |
1/8 hl =0.125 hl =12,5 |
1/10 hl=0.1hl =101

11 =1000 mi

1/21=0.500 | = 500 ml
1/41=0.250 | = 250 ml
1/51=0.200 | = 200 ml
1/81=0.1251=125 ml
1/101=0.100 1 =100 ml
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bpoL = 61
BoooL = 6B
bwoooL= 61
6 0001 = 6|
6% 000L = 11
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Teile von Zeitmassen

1J=12 Mt 1d =24h

12J=6Mt 1/2d = 12h
1/4J=3Mt 1/4d = 6h
1/3J=4Mt 1/3kg= 8h

1/8kg= 3 h

1h=60min 1min=60s

172h=30min 1/2min=30s
17/4h=15min 1/4 min=15s
1/3h=20min 1/3min=20s
1/5h=12min 1/5min=12s

POl =11
OP00L =11
[woo0L= 11
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